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fEmATIE  EELM %R BE—R
5 (s At HEE aE HE |uw  HE s | wEs | aE | mE || #E
RERFREZ ERE  |WES ‘s 50| & # 600 ke
Eih HErE g H=E |me  HE K 100| & 1,450 &
3] fiftE s £t 113k 150| {& LLjl5 hIA, Y25 100| {8 5,900 #
dviE EXAY: L - VE 21 & EO hIArst =
EEp KFMIY2k 50| & f Ll THERDYY |FEALAS 50| {& = -
K74k 250| @& B8 R KhLA5t B EEATIE  =5%H5M
2450 WhT FRNFI47Y4k 300| f& = HE Y17 & iE—=
X 300| {& H kg
FIERIL Mamst |4 & 1,150 {& Ei HEE ki = Bt {HE
= HIE YN R5A & EE 5N HE I 600| ke
B w215 [77%2A & Zaim e 100| kg
EI& WIS |7V4 & L 3y 1,000| #&
5 1,050 {& Ei HEE faE HE el #mE A5 |94 1,500 #&
EiI& Hak &5 300| ke KA F=1::0) 8 TH) 300| kg
FigE A5t &4, nest 400| ke BEAREN = 70 ke
HE oyl S 400( kg BEN B®EN KB 150| kg
FEHh HErE e HE |Eal #HE |KH i3 &5 100 ke E 1,220 kg
FI& LxE EZ)N & [z&F B, s 200| ke 2,500 &
! LYY 250| {& 1= icf - U E M) Y 200| ke
AR Yi4h, $3°v5 100| {& xR &3, 5745 200| kg &% 4770 ke
s Hn 5 100| {& 1) e R0 100| ke 5,300 {&
E 0 v4745+ 100| {& BE Kig ATIT 100| ke 1,450 &
IMER 113, h3 25t 200| f& £ 2,000 kg 8,400
10 103, 345+ 500/ {&
X% B#F ATNA 100| {& s b
Vol 100| {& R
wkn 100| & it HEE iz B el {EE
ER 100| & tam ik Mg 54 500| &
M 44, NI4h5t & kst #9554 100( &
ES br i 200 kg zR 100| f&
FH 400| kg e 754 150| 18
A &R 300 kg MG YU1h 50 {&
FIF MiE ETHY 50| ke §EiR 75 150| 48
X —F[A YA 100 {& R 10 50| &
=5 HIE KINE 200| {& JFEE N7y &
BE EXS 4% & k% 754 1A 50( {&
H 950 kg B WUAF Lyask &
1,950 {& B 1,150 {8
fEiksR =hi—F
Eih HEE i BE |ma HE Eit HEE it = |ue| (EE
Rk iR ¥455¢ 200| {& REAS & @5t #94 5,500| 4%
HE 200| {& st =Ty 400| &
18 YU1h, L5t 100| {& ERBEN |[Tnst EHUN'F 1,000[ Z%
Bak h7° ATV S & =#45 #E52 150| &
(OER] 445 100| {& Ra5n BEARN | ENTF 200| &
M5 ke R =575 50| &
Bt EUL)S 200| {& BES KEMS  |#TEFS 600| kg
X9 KiRs 4454 50| {& Big5 EJ L) EARE 50| &
P& IhIE S &
=iE x& Ahyt &




